[ Efficiency vs vertpos |

~ 0.5

§0.45
2 0.4
0.35]
0.3
0.25
0.2
0.15
0.1

efficiency

0.05F
i

Ratio

1.0

F
<
a
X
X
e

0.950

Efficienq ——

0.8

1072 107 1

OW

OW

t
wpt
t
t

0.7

0.6

0.5

efticiency vs vert z

0.4

0.3

0.2

0.1

Vs

Ratio
N

0.95!

30 -20 -10 0 10

[Effici

ency vs.sim PV z |

20 30

TP vert z (cm)

N 05
>

& 0.45
0.4
20.35

Sim.

o
w

1|||||||||||||||||||||||||||||

efficiency

0.25

©
N

E 3

...............................................

...............................................

...............................................

i

e
[ —!H'—

H
i

10 -5 0 5

LO

15

20

Sim. PV z (cm)




	Contents
	Page 1


